COD. 4ISTRMGEM

DROP

ISTRUZIONI DI MONTAGGIO GEMMA

INSTRUCTIONS DE MONTAGE

!/ ¢) ASSEMBLY INSTRUCTIONS

ISTRUCCIONES DE MONTAJE

MONTAGEANLEITUNG

OAHIIEZ ZYNAPMOAOIHZHZ

PL INSTRUKCJA MONTAZU






STANDARD

B14

B13

B13

Wwo06 +

ﬁ Wog Gl |

=]

Wwoy /L L

WOy |

B10

OR




B3

B13 B13

AN /
. S - it
() -}

)]

B5

B14

D NN HH[ 9% ?
F

~__

bt

B14

®




B1

B1

B6

2|
@)




B18

B11

Bi-«—OR




1o

«+—OR

OR

CFro

-«—OR

-«

()  PULIZIA SOFFIONE

(F) NETTOYAGE DOUCHETTE HAUTE
(UK) OVERHEAD SHOWER CLEANING

(E) LIMPIEZA PINA-ROCIADOR

(D) KOPFBRAUSE KALKREINIGUNG

(G) KAGAPIXMOZX NTOYZ OPO®H>

(PL) CZYSZCZENIE NATRYSKU GORNEGO




LIMBALLO INCLUDE
THE PACKAGING INCLUDES
LEMBALLAGE INCLUT
EL EMBALAJE INCLUYE

IN DIESER VERPACKUNG IST ENTHALTEN

H ZYZKEYAZIA MEPINAMBANEI
ZAWARTOSC OPAKOWANIA

Ok

SR

B2

B3

1x SACHET
hes = e
1 x SHOWERHEAD
1 x ZAKOYAAKI 1 x DOUCHETTE
1x WORECZEK 1 x DUCHA
1 x HANDBRAUSE
“ B 1XNTOYS
1 x SLUCHAWKA 1 x BRACCIO SOFFIONE
NATRYSKOWA 1x SUPPORT POUR DOUCHETTE HAUTE
© = 1X OVERHEAD SHOWER ARM
1 x BRAZO PARA REGADERA
1 x VERCHROMTER KOPFBRAUSENARM MIT
KUNSTSTOFFABDECKUNG OBEN
1 x Bpayiovag yia viouZ kepahig
1 x RAMIE NATRYSKU GORNEGO
1x SOFFIONE
1x DOUCHETTE HAUTE
1x OVERHEAD SHOWER
1 X REGADERA
1xKOPFBRAUSE
1x NTouC KeOANG
1x NATRYSK GORNY 1 x PORTASAPONE
1x SOAP HOLDER
1 x PORTE-SAVON
1x JABONERA
1x ABLAGE
1 x ZATIOYNOGHKH
1x MYDELNICZKA

1 x COPRI COLONNA

1 x ENJOLIVEUR COLONNE

1 x PANEL COVER

1 x CUBRE COLUMNA

1 x DUSCHSAULEN
FRONTKORPER
MIT ABNEHMBARER
KUNSTSTOFFRUCKSEITE

1 x KaAuppa kohovag

1 x PANEL PRZEDNI NATRYSKU

B11

1 X FLESSIBILE OTTONE PER
DOCCIA

1 X BRASS HOSE FOR
HOWERHEAD

1 X FLEXIBLE EN LAITON POUR
DOUCHETTE

1XFLEXO EN LATON PARA
DUCHA

1 SCHLAUCH FUR DIE
HANDBRAUSE (MESSING)

1xSTIPAA
1x WAZ NATRYSKOWY

1 X MANIGLIA

1x POIGNEE

1 x HANDLE

1x MANETA

1x UMSTELLERHEBEL
1x Aan

1 x PRZELACZNIK

B9

1x COPRI BRACCIO SOFFIONE

1 x ENJOLIVEUR BRAS POUR DOUCHETTE HAUTE
1 x OVERHEAD SHOWER ARM COVER

1 x CUBRE BRAZO PARA REGADERA

1 x VERCHROMTER KOPFBRAUSENARM
1xKéAuppa Bpayiova yia vioud kepaAig

1 x OSLONA NATRYSKU GORNEGO

B18

1x GUARNIZIONE GOMMA - '1."
1xJOINTS CAOUTCHOUC - "
1x RUBBER WASHER - /"

1x Aaotiyévia podéha - ;"
1x USZCZELKA GUMOWA - "

B12

oy

1x COLONNA DOCCIA

1x SHOWER PANEL

1x COLONNE DE DOUCHE
1x PANEL DE DUCHA

1x DUSCHSAULE

1x ZTHAH NTOYZ

1x PANEL TYLNY NATRYSKU

1 x COPRI MANIGLIA

1% ENJOLIVEUR POIGNEE

1 x HANDLE COVER

1 x CUBRE MANETA

1 x UMSTELLERHEBELABDECKUNG
1x Kdhuppa Aapig

1 x RACZKA PRZELACZNIKA

B10

1 % GUARNIZIONE GOMMA - "

1x JOINTS CAOUTCHOUC - /"

1 RUBBER WASHER - "

1% GUARNICIONES GOMMA - "
1% GUMMI DICHTUNGSRING - 1/2"
1x Aaotiyévia podéha - "

1% USZCZELKA GUMOWA - 1"

B13

1xDADO M6
1xECROU M6
1x M6 NUT
1xTUERCA M6
1xMUTTER M6
1 x Ma&adt M6
1x NAKRETKA

B14

X VITE M6X30
1X VIS M6X30

1 X MBX30 SCREW

1 X TORNILLO M6X30

1 X GEWINDESCHRAUBE M6X30
1 x Bideq M6X30

1 x SRUBA M6X30

1 x GUARNICIONES GOMMA - ;"
1 x GUMMI DICHTUNGSRING - 112"

B17<1:D

LXVITE 35X13

1xVIS 35X13

1x35X13 SCREW
L1XTORNILLO 35X13

1 X GEWINDESCHRAUBE 35X13
1xBideg 3.5X13

1x SRUBA35X13

1 xISTRUZIONI DI MONTAGGIO

1 x ASSEMBLY INSTRUCTIONS

1 x NOTICE DE MONTAGE

1 x INSTRUCCIONES DE MONTAJE
1 x MONTAGEANLEITUNG

1 x OAHIIES ZYNAPMOAOrHEHE

1 x INSTRUKCJA MONTAZU

B16

1x RONDELLA INOX

1x RONDELLE INOX

1x STEEL WASHER

1 X RANDELAS INOX

1x EDELSTAHL UNTERLEGSCHEIBE
1 x Avo€eidwm podéha

1x PODKLADKA STALOWA





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


